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Question 1.(4 marks)
By expanding both sides of the identity

k+3
(1+x)* =(1+x)"(1+x)* find an expression for ( )

r

Question 2.(6 marks)
Find the numerically greatest term of the expansion (3x-y)!! when
X=4 and y=5' C \euwe. BnGuedd™ AS & \Ow’\i‘iw-m = _/(._ &‘C (‘sT'S ‘K)rkw»a ‘-’Qk.c;ﬁ\rg]

Question 3.(4 marks)
By considering the expansion of x(1+x)» and differentiating w.r.t.x.

n

show that (n+2).28-1 = Y (r +1)."C,.

r=0
Question4.(2 marks)
In how many ways can the letters of the state "NEW SOUTH WALES"

be arranged in a row? |

Question 5.(4 marks)
Twelve cards are numbered 1,2,3,......11,12. Three boxes are labelled
A,B,C. In how many ways can I put 6 cards in one box,4 cards in a
second box and 2 cards in a third? | '

Question 6.(4 marks) _
Four men and their wives belong to a social club.A committee of three
is to be formed and it is decided that no man should be on the committee
if his wife is also on it.In how many ways can the committee be formed?

Question 7.

Seven men and two women are to be seated in
(i)  a straight line (1 mark,2 marks,3 marks)
(i) a circle.(1 mark,2 marks,2 marks)

In how many ways can this be done if ;
(a) there are no restrictions.
(b) the 2 women are to be seated to gether, .
(¢) a particular man is not to sit between the women.
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